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QUESTION 1

Which two statements are correct when the vSRX base license expires? (Choose two) 

A. The vSRX will stop forwarding traffic 

B. The vSRX management CLI access will be preserved 

C. The vSRX will be disabled and no configuration will be possible 

D. You will have to reinstall the vSRX 

Correct Answer: AB 

 

QUESTION 2

What are two characteristics that make VXLAN preferred over other overlay protocol encapsulation methods? (Choose
two) 

A. VXLANs have a theoretical maximum of 16,000,000 VNIs 

B. VXLAN is an open standard protocol 

C. VXLAN provides easy integration into existing STP implementations 

D. VXLANs forward BUM traffic into the underlay on an as needed basis 

Correct Answer: AB 

 

QUESTION 3

A Contrail controller is used in which type of SDN? 

A. OpenFlow-based SDN 

B. SDN as an underlay 

C. SDN as an overlay 

D. API-based SDN 

Correct Answer: D 

 

QUESTION 4

Which protocol would be used by the NorthStar Controller to learn the topology of the WAN network? 

A. IS-IS 

JN0-210 PDF Dumps | JN0-210 Practice Test | JN0-210 Braindumps                                2 / 3

https://www.geekcert.com/jn0-210.html
https://www.geekcert.com/jn0-210.html
https://www.geekcert.com/jn0-210.html


https://www.geekcert.com/jn0-210.html
2024 Latest geekcert JN0-210 PDF and VCE dumps Download

B. RIP 

C. PCEP 

D. MPLS 

Correct Answer: C 

 

QUESTION 5

What is used to provide secure access to a vSRX in a public cloud? 

A. authorized key pairs 

B. SSH key pairs 

C. private key pairs 

D. public key pairs 

Correct Answer: B 
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